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3)
SECTION — I
gqus - [
CHILD DEVELOPMENT AND PEDAGOGY
1ot faema wd Remeres

There are 30 questions in all in this section.
All questions are compulsory.

0 WUS T $el 30 Y 2 |

ety wfamd # |
Which of the following is most important in learner centered curriculum ?
(A) Teacher (B) Child
(C) Contents (D)  Environment
Torenefi fza urgasrn & Freffeaa 4 @ #7 ge8 ng=i 2 7
(A) HEIMHH (B) &=

(C) fawaae (D) STATER0T

Repeatedly asking children to engage in learning activities either to avoid punishment or to
gain a reward will

(A) Decrease extrinsic motivation

(B) Increase intrinsic motivation

(C)  Would encourage children to focus on mastery rather than performance goals.

(D) Decrease children’s natural interest and curiosity involved in learning.

- Tl bl U Y F=4 AT 419 T o foqu d@ige i) nfafafimt o gena 84 & fau sgan #=n
TR ?

(A) I¥h! radt YT i HF Hal 2 | Eﬁﬂ?

(B) 3hT 3TT=afieh ST %1 9ETdT 2 | [=

(C) =1 ! A&d ved= i 59/ veny aifte +0 % Sfa em $f=m 0 % oo denfza
AT S |

(D) =i ht Arehfaeh & 3R g § Wi g 6 fasman 1 w0 w2 |

According to RTE Act, 2009 working hours per week for teachers are

(A) 40 hours (B) 42 hours

(C) 45 hours (D) 48 hours

& 2. arfufrm, 2000 % srgar i = fore wfa Tearg sm % Ruifa 92 @
(A) 404 (B) 427%

(C) 45 (D) 48 =

Which among the following is different from the characteristics of a Good test ?
(A) Reliability (B) Validity

(C) Objectivity (D) Aptitude

o 3 @ i @ u 3o w6 g @ i o

(A) Toraaiea (B) dgar

(C) aEgfma (D) g

P.T.0O.
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The purpose of evaluation is

(A) To label children as slow learner and gifted children.

(B) To identity children who need remedial measures.

(C) To diagnose learning difficulties and problem areas.

(D) To provide feedback on the extent to which we have been successful in imparting
education for a productive life.

e 1 339 F1 81 8 7

(A) sl =i we forenefi i ufavremeft s=ii & w9 ° sifera & & faw |

(B) 3 5= i 989 FA & o1 fag 3=t 3ura i armavaear 2 |

(C) Higa &1 gz s auen &=t #1 fieq w6 & fau |

(D) 38 U1 da Wiaqf¥ YeM &1 S8l deh 86 SeaTeAsiiel Siiad @ fota 371 9er i 1 8% @
g1

A Reflective teacher creates classroom situations for students to

(A) List:_:ning the lecture. EGE

(B) Taking notes from the lecture of the teacher. Gk

(C) Maintaining classroom discipline.

(D) Promoting interaction between students and the teacher.

s fa=sfter foers wen-ou 4 v giifeufs s s 2 fs am
(A) SHATEIH §H & |

(B) wei-=& 4 fo1ereh & SImerA & 98 o 9 |

(C) -8 T 315 &1 T |

(D) Bt 3 e 1 urerits st s vieas fied |

Action research means

(A) A longitude research.

(B} An applied research.

(C) A research mitiated fo solve an immediate problem.
(D) A rescarch with socio-economic objective.
ToraTare STEa™ 1 37 8

(A) UH e SHEIH |

(B) U ST HATHUH |

(C) U WY TT0H doshled THET <l 8 ohaT A1 G |

(D) M- AT 3e9d & w1y us 9y |

According to NCF 2005, the role of a teacher has to be
(A) Permissive (B) Facilitator
(C) Authoritative (D) Dictatorial

NCF 2005 * 3181, T f3rereh i syfirsht 2t =nfag

(A) IHIEH (B) gfarereran
(C) fuspifis (D) dHTENE
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Development proceeds from to .

(A) General — Specific (B) Complex —Hard
(C) Specific — General (D) Simple - Easy
ferpra e <l IR TG 2 |

(A) = - fafsre (B) wifed —+fga

) fafsre - am= (D) HETHT- HATHH

Match the following Principles of Development with their correct description :

Name of Principle of Development Description of Principle
(1) |Proximodistal trend (a) |Head to Toe Sequence
(2) |Cephalo-caudal trend (b) |Different children develop at different rates
(3) |Inter-individual Differences (c) |In a single child, the rate of development

can vary from one domain of development to
the other

(4) |Intra-individual Differences (d) |Growth from the Centre of body to outwards

N @ 6 @
A @ @ (b © -
B) @ (b © @ S
©) © @ O ()
D @ O @ (©
freifefiaa frera o fagrl &1 3% wdt avia & firem Hifse

forrma & g T am e s ool

() |wdiu—guiimga@feen  ((a) | @ dee o

(2) ﬁ:{(_qaﬁg@ﬁ{m (b) |fafi= a= fa=r-fr et g sgd 2 |

(3) |sradafedes fir—amd (c) |Tendlt wer s=a o forepra <6l &z, T < we & i amean
A ¥ 1 8 wehell B |

(4) |siquaafars i [(d) | s g @ are i o gty

1Ml 2 @ @

(A) (d) (@ ((b) (¢

(B)y (@ (b)) () (d)

(C) (¢) (@ () ()

(D) (d) (b) (a) (¢
P.T.O.
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The Nature and Nurture debates refer to

(A) Genetic and Environment (B) Behaviour and Environment

(C) Environment and Biology (D) Environment and Upbringing

ehfel war gror foerng frefeiiaa 4 | frad wafRm g 7

(A) ATafIrehl Ud araTaor (B) <IEER U IrarEl

(C) araTeR ue Sfafasm (D) SITATSRET e T -ar9o]

Which of the following statement or statements is/are false ?

(a) It is not necessary to understand that each child is unique.

(b) The child develops as unified whole.

(c) Any problem in one aspect of development is likely to affect the others.

(d) Development is a sequential process.

(A) (a), (b)and (c) (BY (b)and(c)

(C) (¢)and(d) (D) Only (a)

frafafed 1 3 =R o 71 &9 4 w9 sEE /8 7 CAILL
=

(a) I8 GHIHET &4 A2 & T e s= g 2 |

(b) a1 weh Uehigh qui < &9 4 forepfird gran @ |

(c) Taera + v uge) # foreft wwen <6t gai 0l wwifaa 6 <1 avmaT a1t 2 |

(d) ferehra v srgsmites SfFan 2 |

(A) (). (b) 3 (c) (B) (b) 3 (c)

(C) () AR (d) (D) =had (a)

e

occurs when there are orderly and progressive changes in a human being due to
maturation and experience.
(A) Growth (B) Development
(C) Physical changes (D) Mental changes
= g A gt 2, S gftaaar 3 3ya & 0 s § wuag il sifasfia
afEd 2 & |

(A) 33 (B) forpra

(C) e sgeTa (D) =R TiE
Which of the following is not a characteristic of early childhood ?
(A) Pre-Gang age (B) Imitative age

(C) Questioning age (D) Toy age
freferfiga & & 9 ot aaom i fodma = 2 2

(A) WB-2reft 311 (B) IAHIA 7Y

(C) ware & hi 311y (D) Taen 3y
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16.

17.

18.

19,

N

Each person’s work is a reflection of certain abilities, in performing any particular task, a
person selects some of his mental abilities as a model. This principle was given by

(A) Thorndike (B) Thurstone

(C) Gilford (D) Thomson

T SAfa &1 i Ffvaa Fmransii @ afafara 2 2, frdt fas =0t @1 =@ 1 safdq st

T AHfE Frgaiaii 4§ g i ufdey % w9 1 gara = o 2 | 78 fagra foeem fean 2

(A) uHEEH (B) uded

(C) fiesid (D) ¥imad

Which of the following is projective technique of personality measurement ?
(A) Rating scale (B} Observation

(C) Interview (D) Thematic appreciation test
fore 1 @ i ot safaea rm F warf fafa 2 ¢

(A) et oot (B) FAaciie

(C) HIRITHR (D) HUHH TII Tero
[.Q. of a talented child is

(A) 130 (B) 140

(C) 55 (D) 120

gfeararTet seres i g @fey Bt 8 EyE

(A) 130 (B) 140 Eﬂ‘

(C) 55 (D) 120

Schools should cater for individual differences to

(A) Make individual students feel exclusive.

(B) Narrow the gap between individual students.

(C) Not to assess the abilities and performance of students.
(D) Understand why students are able or unable to learn.

wpelt o cafanTd fa=ranatt w1 e e =nfae F=ife

(A) e o i fafire Teg wEH & |

(B) BT % &9 % HA=T Hl HH HH 7 |

(C) BT Ud BEST HT &Har3i 3 96 =i A& A o feru |
(D) THgA & fqufr om dma dond @ sl =T A1 @ 2 |

A child of 16 years age, scores 75 in LQ. test. His mental age will be years.
(A) 8 (B) 14
€y 15 (D) 12
16 a4 311 1 S gy afed wltem # 75 3is W Han 3, 35! AHfaS 31y Ci |
il
(A) 8 (B) 14
(C) 15 (D) 12
P.T.O.

https://www.pygonline.com


https://www.pyqonline.com/

20,

22,

23.

Who gave the formula of 1.Q. written below ?
Mental age

(8)

[ntelligence Quotient =

(A)  William Stern
(C) Binet

i e 3 fera Freiferfiaa wnden foe foan ¢

AHfE 311y
g@aﬁ—mmxloo

(A) faferam &
) fa

Creativity is usually associated with

(A) Hyperactivity
(C) Convergent thinking

oATCHhdl J&: fhad FHai-a & 7

(A) Afaafraar
(C) Afrom fa=aq

. *
Chronological age

100
(B} Terman
(D) Galton

(B)
(D)

(B)
(D)

(B)
(D)

Gt
Meed

Low comprehension
Divergent thinking

H ST
syt fa=aa

Which of the following condition promotes adjustment ?

(A) Acute anxiety
(C) Fear of illness

(B)
(D)

Obsessive thought of guilt
Free from neurotic fears and anxiety

frafafied 1 4 =R =i fRufa aurrsa w1 e ¢t 8 7

(A) e fa=m

(C) <mrl =1 &

Signs of gifted child are :
(1) Novelty in expression
(ii) Curiosity

(ii1) Talkativeness

(iv) Hyper-activeness

(A) (i)and (iv)

(C) (i) and (iv)
wfeTeITedt STersh o wem = E 7
(i) afveafea 4 Feaan

(i) formman

(iii) aTatemd fomar

(iv) 3rferafshaar

(A) (i) 3 (iv)

(C) (i) 3T (iv)

(B)
(D)

=
=

(B)
(D)

(B)
(D)

Y Y % T A |
faferea s 3 faan @ gfaa

(1) and (ii)
(ii1) and (iv)

(i) 3 (ii)
(iii) 3T (iv)
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24,

26.

27,

(9 D

Two opposite desires present in an individual at the same time is called

(A) Conflict (B) Frustration
(C) Anxiety (D) Pressure
U e T U T0F W &l [Auild g=a1311 F1 8H1 el 8
(A) TF (B) Fal

(C) Famm (D) &=

Ravi’s intelligence test indicates that he is in category average to above-average of
intelligence. However, his grades in reading, spelling, social sciences and science are very
low. His Math’s grades are quite high and writing skills are adequate. Ravi most likely has
(A) Dyscalculia (Maths Disorder) (B) Dysgraphia (Writing Disorder)

(C) Dyslexia (Reading Disorder) (D) Dysphasia (Language Disorder)

T =1 gfg wiem 3 5w 2 e gz oftea @ @, sited | stfuss siged 1 2oft § smar 2 |
FreAileh e, -, arfsres fomm i fasm § 3wk Ue wga w9 E | 3wk v % U wR
wrferes & | 1far orga e 7 aresr B 1 9 9 it wrmear &

(A) femhespfern (nfora & rafea fopfa)

(B) femmftrn (erem @ wwaifuq fapfa) gﬁﬂql?

() Temaifmmn (vg3 & wwifem fogpfar) =

(D) feutfsan (drer @ awaifva fasfa)

“Learning is a process of progressive behaviour adaptation.” This statement was given by
which educationist ?

(A) Skinner (B} Woodworth

(C) Crow and Crow (D) Gates and others

“ERET SR A I A &l Uk Ui 2 | 38 % foeu fenfae & gro fearmn 7
(A) ferm (B) gead

(C) %I Ud 3 (D) TieH ud 3=y

Srishti is the student of class two. She was taught basic mathematics by the teacher. Next
day while shopping she pointed out the mistake in total done by shopkeeper. Which type of
learning is this ?

(A) Negative transfer (B) Positive transfer

(C) Bilateral transfer (D) Zero transter

e — 2 1w gie w1 swefre 3 ga i fava % gare wEm, o T o e i
HTA @i I GhHER ZRT i At A1 i v i Fafea #teh a8t e | 78 At
1 B T THAR 7
(A) THNIeHSH EIH=0 (B) HHRIcHS CH0
(C) feuefia wrarg (D) 3[R T

P.T.O.
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(10) PL-1
Which of the following theory is also known as theory of reinforcement ?
(A) Operant conditioning theory
(B) Stimulus response theory
(C) Classical conditioning theory
(D) Theory of insight
fom 1 & fopw firgra 1 qaefer &7 fagra st wad @ 2
(A) Toramryg arge-am fagr
(B) 3@ iR faga
(C) e e fagr g
(D) FFrasie fagr

Choose the example that illustrates intrinsic motivation.

(A) Vandana is working hard to score well in exams as she wants a gift from her parents.

(B) Urmila is completing her homework so that she can watch TV after completing her
homework.

(C) Ila is reading more books so that she can secure first rank in District and her school
get fame at District level.

(D) Megha is exploring various resources for her project because she loves learning new
things.

frafafiaa 1 9 su e %1 99w hifse St snafe sifion < eafar 2 -

(A) ST T § 318 3 W i < fiu sl ufigm = @ @ food 97 a0 wran-foan 3
ITEN 9IS HLHh |

(B) 3fifeT werwe TEehd quTd T @ Hifh [hrd FuTd Heh a8 4R, @ T |

(C) T sigd OHl Yk Ug TE1 2 Fifsh a8 foret T wem T wie e e &1 am faen
T O U9 HET AT 8 |

(D) e 319 it Rl < foru fafim dia o @ 8 w=ife 98 73 s v s E
s wEd 2 |

Who among the following has not propounded the learning theory ?

(A) Thorndike (B) Skinner
(C) Kohler (D) B.S. Bloom
fo o @ fopma ftrm fagra =1 wfaarea == foeam 7

(A) ulieE® (B) ferm

(C) <laeH (D) dl.uH. =M
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32,

33.

34.

35,

36.

37.

(11)

wug -1l

HAMNT -1
&=

T @US T F1 30 T E |

aeft gva srfE 8
WTNT-hisTell 3 O AfTeafe Hive 2 :
(A) T IR FHT | (B) for@mn 3t g |
(C) ST 3R feran | (D) YAl 3 HTeT |
FerE R T i | HefaA F 7
(A) &= (B) M
(C) o (D) dred
ferrarmi (i wien) fore wer i srirm areh 2 7
(A) S&TH g (B) ¥ wr=wt
(C) Fva-2rea |t (D) #rea Tt
TS SFETIME] < ST 8 aftrfera & 8
(A) T e | (B) &9 & |
(C) T =a | (D) fasm e |
LR AT 1 3 ;
(A) TP IR (B) faxuan
(C) 3 @f frim (D) Ir=rsTfeeharn gﬁﬂ?

O

Hifigeh Yeare & HeY 4 IUgH FUA 2

(A) TRE® earehd | Sesaia T @ 91 2 |

(B) Wifigs qearhaadil HEEH, Fgeia 3 fawa faws g e |
(C) Tifigeh qeITehd | Tgigal 1faes -t =mfae |

(D) T geareha § faanefi =t sremfyeafan st #9 faer =ifze |

“TeaTeh IqavAl sl e <k HIHT 61 R 34 St aiska 8 |7 gearehd 1 78 aivar faeh
27

(A) HTghferd (B) .4 v\

(C) = (D) UEEEH
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42,

43.

44.

45,

(12) PL-

foremefi 1 < wath HEATFA i G H §C FER TH FTen g FEar &
(A) e frem (B) &ciieh foreqm
(C) 7vrd fareqom (D) STENIHS f3remoy

el Ud SAT9h HedTehd 1 3N 8 :

(A) e feremia i e e s & g |

(B) faenfefi s61 ot swfii o1 fier 3 &/ @A 2 o

(C) FaH Afrwreehi w1 foremef 1 i Wil &l SRl il &l 2 |
(D) g Sorreft st ey ht s wehedt 3 S feremefi-frees s wa & |

Ireferr witer % frmin § fopa o =1 s R ST 2 v

(A) @ (B) dH

(C) = (Dy =R OHO]
=

ferugmea foew faf S wau d ga FUA 2 ¢

(A) T8 T AT Jumredl 2 |

(B) I8 3= et T o faafea = foro siferss suanft 2 |
(C) % "ered 3 55 fafy =i fifTea w9 wem o |

(D) TSI = =ATeHLVT e Hifged i Torem 34 fafty & 3 & < ot |

st foream goredt # sman i e Frafefqa d e frrm mrem a f snasdi 2 7
(A) “hael fepamet 9 H | (B) TR e |
(C) wifd-gae a4 | (D) 3 @ wE T |

T fvenr & el o Safdes rqeym yonedt i = dm g

(A) zaH fermeff =1 e o el o1 1 I9TE 9 U HTEET S el 8 |

(B) aH faemeff st vt Sivrer § ez fran s Apar 2 |

(C) 3o Jafaass foreror w iferer wa fen s 2 |

(D) a@ foreqor womredt srferes fernfefan areft 1<t e 3 arearsa <6 forg swamft A @ |

U § HH &1 UiEiad AvmEe 3 HIEH A8 8 ¢
(A) ITEIIT HE HI AT |

(B) 1o v fd |

(C) ferenféfai gro waream wa forers gro antesta |

(D) HeATcHS TEHT |

‘FANYA T TUT FAF B F AU I fr@arn e w0 | Iedifad ad fhE @ F
foranfeia gq i e 8 ¢

(A)  wrafires e | (B) I Wiyfier @t & |

(C) wrefie @i | (D) 3= AreAfies Tt |
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freaferfiga werier & SR T SRR FE@ 46 A 50 T F I Ao

oS 1 54 wed nfaefidl e & 1 v g 2 6 foedt skt 3@ et oiv it € 1 S
Hs 7 6) fqriia aRtfeafad § oo 1 Aored! 3 @1 81 T Tehd 3R 34 91 & H1Y 98 A4 &, 9
] I I U A& B Gl | Ik 10 1 72 kA1 AfeC foh o Sfiferd 1@d guge & wuH 2 | 11
i srawen @ |t Bl Teredl B | S faw T v aitfeafa # awe od 8, 9 F9 e @ 331w
HAR ST % o= oft 3o wEa G od € | HEw S 9 39 ot 3 gfva ware 9 o
9 H1 YT B & | ek, T AT hl it T et S 310 BeIgen | 3% 8 S § 3 U
H L d3d 7, T8 3 Wifaaa Sfed T 79T <61 {99 90 A1 8 | T 57  Sfad ¥ 3569
s arfge | afe qrern % Ieeva A8l 2, o qu whet 1 8N | Fa U 77 SRl G AT STETI
2 | SewE ns e ygan A am Hi T@ 2 |

46. ‘TR w2 F wE wha-fa=de @

(A) ¥g+Td (B) ®a+Ud
(C) #g+Ta (D) GeT+1d
47, frafafiga 8 fav’ wee w1 e e @ E5E
(A) 9 (B) amfa =
(C) 3w (D) "Mt
48, ‘et sreg w1 feretm g
(A) dTEh (B) aueh
(C) ¥4 (D) HUdH
49. TRV H WY TG WS H 39 &
(A) TAT T | (B) WA W g |
(C) "I | (D) T < femm |
50. IS W R :
(A) T3 (B) wr=aET=S A1
(C) ifoaresh 9 (D) Safadares G5

frAteAitaa TNy = NG W I T 51 9 55 96 & I I

39 9, P T EEA A1 I SR 3HDT Gpld — g9 i1 o wfriferd w9 Uy w1 ww g1an
2 1 v % v =9 A ayfs & gfd w=m S gar wded 3 | S i g - wr e ad,
g Fder it 2 1 et ma 61 shi 1 S e fftet v 9 €, 32 % SR 98 TgE Feard @ |
AT T a5 ST 7S WY 1 GHT AT E | Ik T & Y wrgan 1 Es e w5 2 |
geefl Wil @ 3R S g= 1l 4 gl 61 qA 2 | S 9 wie 7E 2, 9@l 4 3R 4 1 g6y ek
3R g 1 &1 B | HIAT 3194 T YAl Sl GHH 9T § A1EA B | 9 YRR 9o W awd ardt weft 51
TR & | 30 F9 3 Fr= 9 T 2 1A S 3 TR T 9T Sied el 3 3 9l
A T 2, fe st 3w g E |
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this section.
All questions are compulsory.,

‘Learning 1s made stable and everlasting’ is a merit of

(A) Bilingual Method (B) Structural Approach

(C) Direct Method (D) Communicative Approach
‘Priority of Reading’ is a principle of

(A) Translation cum Grammar Method
(B) Dr. West’s Method

(C) Structural Approach

(D) Communicative Approach

‘It stops power of thinking freely’ 1s a demerit of

(A) Bilingual Method

(B} Direct Method @83
(C)  Translation cum Grammar Method 5
(D) Substitutional Table Method

Bilingual method includes

(A) Translation by teachers only to explain the matter.
(B) Insistence upon reading only.

(C) Insistence upon writing only.
(

D) Optimum exposure for discussion.

The receptive skills comprise
(A) Listening and Reading (B) Listening and Speaking
(C) Reading and Writing (D) Reading and Speaking

Writing is more complicated skill because of

(A) its variety of fields.

(B) its last position.

(C) its inclusion of other subjects.

(D) graphic representation and presentation of structured thoughts.

P.T.O.
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(16)
Language games help
(A) to improve speech (B) to build structures
(C) to build vocabulary (D) to learn grammar

Assessment of broad learning behavioural outcomes is a feature of
(A) CCE (B) Peer Evaluation
(C) Formative Assessment (D)  Summative Assessment

Which one 1s not a characteristic of Peer Evaluation ?
(A) Effective monitoring (B) Metacognition
(C) Saves teacher's time (D) Faster feedback

Cloze Test Evaluation was described by
(A) C.J. Dodson (B) Woods @rEfE!
(C) W.L. Taylor (D) Roberts Paul @4

To free the slave, the chains

(A) being removed (B) had been removed
(C) 1s removed (D) was being removed
The convict by the neck till death, was the verdict.

(A) isto hanged (B) 1is being hung

(C) 1s to be hanged (D) 1sto being hang

*She said to her son, “What do you like 7" The indirect speech of the sentence is

(A) She asked her son to like.

(B) She asked her son what will he like.
(C) She ask her son what he liked.

(D) She asked her son what he liked.

The phonetic sound of the letters underlined in the word “together” is represented by the

symbol
(A) d By ©
) o (D)

Which is the correct transcription of ‘question” ?
(A) 'ku:s Jan (B) 'kwestjan
() ‘'kwu:ln (D) 'kwuschn
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Passage (For Q. Nos. 46 to 52) :

The messenger had no idea what all this was about. If King Avinash meant to attack his
king’s fort then all was lost. For King Bahadur was old and weak. These days he spent most of
his time in prayer. After much thought the messenger decided on a plan. “Sir, I do not know
why are you so angry,” he said. “All I know is that King Bahadur has gone mad. 1 cannot work
for him anymore. I had decided to the court and work elsewhere. If you will take me in T will
gladly work for you, my lord.”

46. The synonym of ‘attack’ is
(A) war (B) dispute
(C) invade (D) contlict

47. The synonym of ‘mad’ 1s

Elglij (A) sick (B) insanc
&= (C) nervous (D) sensible

48. The antonym of “angry’ is
(A) sharp (B) infuriated
(C) calm (D) peace

49.  The one word substitution for *old and weak’ is
(A) infirm (B) sick
(C) humble (D) polite

50. The correct noun form of ‘decide’ is
(A) decade (B) decided
(C) decision (D) deceive

51. The correct verb form of “lost’ is

(A) loose (B) lose
(C) loss (D) lest
52. The correct spelling i1s
(A) patiritism (B) partritism
(C) patriotism (D) potriotism

P.T.O.
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(18)

Passage (For Q. Nos. 53 to 59) :

Being tree filled me with happiness. Now that my chains had been removed, I could see

PL-1

the capital city. Everyone was ordered to stay indoors in case I stepped on them and they got

crushed. The first building I saw as I stepped over the city wall was the Emperor’s palace. It was

charming just like a big doll’s house. I had to lic down to look inside and as the Empress came

to the window smiling at me, she gave me her hand to kiss.

53.

60.

Which part of speech is *Happiness™ ?
(A) Adjective (B) Noun
(C) Verb (DY Adverb

‘The Empress came to the window smiling at me.” Here ‘smiling’ 1s

(A) Noun (B) Verb

(C) Adjective (D)  Adverb
‘Being free filled me with happiness.” The sentence is in
(A) Present perfect (B) Past perfect

(C) Pastsimple (D)  Present simple

0
S

‘I had to lie down ...." The sentence is in

(A) Pastsimple (B) Present simple

(C) Past perfect (D) Present perfect

fean she gave me her hand to kiss.” In this sentence the determiner used is
(A) she (B) her

(C) to (D) me

‘It was charming just like a big doll’s house.’ In this sentence the determiner used 1s
(A) just (B) like
(C) a (D) big

‘Freest’ is the superlative degree of

(A) fire (B) freer

(Cy firer (D) free

The farmer fastened the bull tightly to the stake. The correct question for this is
(A) What did the farmer do ? (B) What does the farmer did ?

(C) Why did the farmer did ? (D)  Why does the tarmer did ?

https://www.pygonline.com


https://www.pyqonline.com/

PL-

31.

32,

35.

36.

37.

(19)

oug — 11

e -1

TP,

ar T s |l |
el YvAT: HHTHAT: |
TR Hohiraaaied: - faftmn gars 3ugy w1eg ?
(A) e IEVICIDES (B) aﬁﬁaﬁﬁfﬂm
Tepafsiere Hise fafer: argfafy: sfa e e ¢
(A) faveruenssfaf: (B) geaerfafer:
(C) wurhufafy: (D) TreagEHATY:
THUITAT EvT YA o WO 39TEf SR & -
(A) WW&TW (B) Wqﬂﬁ]w
(C) FEpATIAR Ferret (D) T&paur fere
WTST-<hivTery, 3t <hiered forerd -
(A) & PRI (B) oiEH shivie
(C) T I, (D) 2@ ey
Opi0

- - . . 'ﬂ'@"t
AT qYAETIY Farad |rad forrd - &l
(A)  PATHHETRH (B) TTUTSRH
(C) oo (D)  SATHTITETT
fafafaay oo g we wafa -
(A) TaamerawaTy (B) T
Tl T3 HAV - TV - TS - hITAHTed GeaTgH g T3 -
(A) wiRgeraiiern (B) fefgariern
(C) Fremmersmdiemn (D) ST
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45,

(A) FeATRThE (B)  uTsorgdter
(C) axgfsadier (D) aviHTeHsRET
QUi BT TR AT W -
(A) S (B) HcATgH
(C) TSI (D) FUTHYH
Jerunfy S aal Framfutorm wafy -
(A) 3T (B) s
(C) AR (D) g
e Henyad -
“378 o ° TSI |
(A) 378 & 9 93Y: | (B) 318« 9 9aa: |
(C) 29 93M: | (D) 3% @993 |

o 0}
“31E Q@ TEIfh | Seae Sree areA i e - i
(A) TaT e 53 | (B) 38 qaA 3 |
(C) a1 ¢a: W | (D) T <@: 3Y |
g A -
(A) 9 BeAld 3T (B) & 9T BeAl A
(C) & usd el 3rmag (D) & I BTty 3=y
“‘aﬁ_ﬁrgﬂﬂ%lﬂm:a‘gz“l
TaTfgaws Sefmi o -
(A) < whifererd: 78: | (B) Y HIfcTerE: 218: |
(C) g Hiferer: 218: | (D) g Hiferer: #8: |
IoHA 8 Faeaf< T HARY:” | HYfEaue e @ -
(A) w1 (B) whraifor
(C) HaATH (D) sl
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(21)

Frferaay arafea maren snuiee T < (46-50) THTEAT: —

m%sra‘g'gmﬁgﬁmﬁ | Tafauramiaatee: ammammnfy: s 3@ feafa J?ﬂéﬁ":
W aT: ey gfd wafdar: af= | s afeur aweatuy add | fagem fafimn s om
AT YA AT | WA TG TS Y, T qEed: YR 319ad | ST IRas
AT, dAHd e fgae Tsifaes 72 gonvd |

“ATEd:” §H % |- ?
(A) 3o — | (B) ToI-Hi:
(C) ae-af: (D) drE-a|f:

“HAT:" oA T e 7

(A) ¥H (B) Hs
(C) & (D) &9

EE
“HATTE $eard Yead: ferad - Fire
(A) ¥d (B) vaq
(C) g (D) &l

“FrETRy” 3o 1 ferfa: 7

(A) Tt (B) =rqeit
(C) weadt (D)

YA e Tadr=e ad | 3 are fasivorg, fererd -
(A) wa= (B) HEWTHHY
(C) TiREq (D) oo

frafafigan smfed marm snuiea swifafaa: s (51-55) Surea:

TR TSR TerH aifed | e/ T Tl werre: safie: sta | e
Tty fmforpteret dieede e el aify afrar: wafmr | € w7 ywae Af-ame
wfagn | 7= qae o nerandty qaa o ey “omi” At g e fearsie |
Ted 3 TR TS |

“TERIS: " 304 oh: HE: 7
(A) & (B) remdivE:
(C) FHUTE: (D) fam:
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i g whfrede: e -

(A) " +Uug (B) H¢+Ud

(C) "+ (D) @+

AT 3 faretme add -

(A) rEre (B) 3T

(C) 9T (D)  HATAT

~gefurert: 3ty afea: yafa | soafem e fasrsareg sifc -

(A) fa (B) waf

(C) dfeha: (D) Shm:

I TR T 7EAT: SAfHE: SR | 39 W@iigd Ue a1 -
(A) TJE—TTHR: (B) Wg-TIHI:

(C) T~ (D) F-TFHIL:

“wre Wi wafa | areRfive e -awR uiEdad -

(A) HTaT WisH gt | (B) WA HISHY A= |

(C) Tl WISH =i | (D) HTdT 9o U= |

“44” Al T T forEa - %gg
(A) SgeieR (B) SIgrTig

(C) Tefraciier (D) T

ARATYY “U” TeATEe 3feesrn: add —

(A) U, 30,T, 30 (B) 1§, 3,3

(C) u, 3, 3M, T (D) ©, 3,71, 30

HEeheiA JTE1E Fobd —

“q T <\ w1

(A) T: T g wf=ay arres | (B) 9: fomm =g mfewy anmee |
(C) TA: frn e Af= aFes: | (D) 9 T w8 At nfvrsafa |
HEpe AT Foed -

“TIAT T < 121 BT |

(A) % T agsafa | (B) 0T =% T HiA |
(C) F9: T Tersata | (D) T Trsd Werenty |
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SECTION-III
LANGUAGE-1I
ENGLISH

There are 30 questions in all in this section,

All questions are compulsory.

61. The process of finding out the extent to which the desired changes have taken place in the

pupils
(A) On line lectures (B) Evaluation
(C) Co-curricular activitics (D) All of these

62. An important part of any evaluation in which the teacher should prepare a record sheet for
cach student indicating the different skills to be tested is

(A) Record keeping (B) Notice book
(C) Class teacher diary (D) Monthly attendance
[E{Em
63. Which one is not a type of digital portfolio ? & 3
(A) Developmental (B) Reflective
(C) Representational (D) Occupational

Passage (For Q. Nos. 64 —70)

Non-biodegradable plastic is one of the prime targets of environmentalists across the
world, but, we, too can make a ditterence — by spurning that plastic bag for cloth, by buying our
acrated water in glass bottles instead of plastic, by demanding glass milk bottles instead of
plastic pouches, by using that sheet of paper on both sides, by recycling vegetable waste and tea
leaves as manure. The media can also play an enormously significant role in this respect. It is
not difficult to make a beginning; it 1s far more taxing to sustain it. But the payoffs of sparing
just a little thought to where our waste goes, promise to make it worthwhile. Sometimes you see,
waste can kill.

64. One of the prime targets of environmentalists across the world non-biodegradable

plastic.
(A) are (B) is
(C) was (D) were

65. We should carry cloth bag plastic bag.
(A) despite (B) inspite of
(C) instead of (D) as
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Common man media can play a significant role in this respect.
(A) whereas (B) but
(C) aswell as (D) though
Vegetable waste and tea leaves recycled into manure.
(A) was (B) is
(C) canbe (D) if
Small efforts can a big difference in reducing plastic waste.
(A) get (B) make
(C) made (D) take

g
The most suitable title for the passage is =
(A) The urban life (B) Waste and media
(C) Waste management (D) Pollutants
[n order to reduce plastic waste, plastic pouches can be by glass milk bottles.
(A) used (B) replaced
(C) stored (D) none of these

“Slithery, slidery, scaly old snake.”

The literary device used in the above line is

(A) Simile (B) Metaphor
(C) Alliteration (D) Trony

The literary device present in the line “T am as quick as a cheetah”, 1s
(A) Satire (B) Alliteration
(C) Hyperbole (D) Simile

“Upon a nice mid-spring day

Let’s take a look at nature’s way

Breathe the scent of nice fresh air

Feel the breeze within your hair,”

The rhyme scheme of the above line is :

(A) AABB (B) ABAB
(C) AABA (D) ABAA

“All the hittle corn flakes were so excited,

They were getting to come out and play.”

What is personified in the above lines ?

(A) All (B) so excited
(C) corn flakes (D) All of these
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(45)
A mournful poem, typically a lament for the dead is called
(A) Drama (B Comedy

(C) Sonnet (D) Elegy

The literary term used for a poem of fourteen lines using any of a number of formal rhyme

schemes is
(A) Short story (B} Sonnet
(C) Elegy (D) Allusion

“Who knows why the cold wind blows !™

The literary device used in the above line is

(A) Personification (B) Hyperbole
(C) Assonance (D) None of these

In the lines given below the literary device “Metaphor’ is used in
(A) Betty Botter bought some butter.

(B) Ascoldas ice.

(C) A host of golden datfodils. !E e

(D) It is the east, and Juliet, the sun. &

A genre of drama based on human suffering and, mainly, the terrible or sorrowtul events

that befall main character is known as
(A) Tragedy (B) Comedy
(C) Irony (D) Autobiography

A ‘Fable’ 1s an example of

(A) Rhyme (B) Short story
(C) Sonnet (D) None of these
My father swim very fast when he was young.
(A) can (B) may

(C) could (D)  must

Choose the alternative which best expresses the meaning of idiom/phrase given below :
*No Pain No Gain™

(A) You have to work for what you want,

(B) Wait for the right time.

(C) Take care of your pains.

(D) Do not harm others.
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PL-1

‘To avoid talking about what is important’ the idiom/phrase which best expresses the

above meaning is
(A) Hit the sack (B) Upinarms
(C) Beat around the bush (D) Sell like hot cakes

Choose the correct phonetic transcription for the given word : “Thin’
(A)Y Jtif (B) /Om/
(C) fan/ (DY /dei/

Which of the following contains the same vowel sound ?
(A) tell —bell —cell (B) know —now — bow
(C) put—cut—cute (D) All of these

Find out the word which begins with different sound from other given words :
(A) High (By Hike
(C) Hire (D) Beat

Choose the correct phonetic transcription for the underlined sound of the word : Call
(A) /kaM/ (B) /ka:l/
(C) kel (D) /keml/

Which statement is not correct about communicative approach ?

(A) Itis practical in use.

(B) [It1s situational, meaningful and self-rewarding. ESm
(C) It develops the speech ability.

(D) It is teachers centered approach.

[n structural approach the word “structure’ relates to the structure whereas ‘approach’

stands for
(A) Going away (B) Coming near
(C) Sincere (D) Intelligent

The teaching which is needed for the students who are in general backward in studies and

fail in one subject :
(A) Remedial teaching (B) Advance teaching

(C) Classroom teaching (D) None of these

https://www.pygonline.com


https://www.pyqonline.com/

PL-

61.

63.

(47)
@Ug — |11
ST - 11
HEpH
3= Biwa e | |
T YUT: FETHAT: |
TR N0 ITaRHH HIgs 9o 7
(A) BEERITERY (B) TR
(C) AATIREITA (D)  YUHTERRGUTERY
TR aqfauTITERTIeTy qefehteery Jife -
(A) TETHITAR (B) MTNURRITIeTs
(C) Uavrhtzraq (D) UShITETy

feereTreeT, S9THI, oAt , guTiiaaTRET, JETaTE s %: fafu: S
wafd ¢

(A) eHTHTUTafY: (B) srEfafi:
(C)  weaefafer: (D) crEaAfafi:

Fuifeiiad srmfed TR TariheT S1: (64-68) HHTEAT: —

64,

65,

Y Hiafyeaq am et fanf saeq | g d e aq aadHsiiedTd g e

TS g | 3d: QI TR TH: SAMTeATa 3 faarl @ sen: syean s graae: |
A U 48 Aae: A andt faafa @ |

D0
BE2Y
ARSI oA 1 fawfa: ?
(A) et (B) =igefl
(C) Tt (D) wdl
YT $cd9 &: Iodd: ?
(A) IR (B) FI9e:
(C) Faucad: (D)  IHEIE:
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a1eg arfeg T areq w3 arft g | a2 -

(A) TR (B) #fd

(C) =g (D) wfa
Ffpll 9 i Form gaest 3mmg -

(A) SfhiE] (B) &HU
(C) =il (D) Sl

EE gl digl | gl T B -

(A) =T (B) 33
(C) @t (D) TEB
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83.

84.

85.

86.

87.

88.

89.

90.

(58) PL-1

. Tq 1 agf g fafes o -

(A) HHEW (B) Tfawm

(C) fesfa (D) @

“mTet femarg afeat 1 fieme ammg -

(A) heq @rThaH (B) ad gagdl

(C) g qATEA (D) S| qTHd

fawa 3 = fyara = -

(A) T gfgvhi BifHil 1z | (B) Higd afe 9w e AR |

() gavfem oz | (D) Hfesil #het Gal IR |

ferarergt firamet a1z -

(A) ¥ 3 (B) vgEH

(©) v awe (D) ¥ 3 =g

w1 fergmr S afzfeEi $ea 3R -

(A) guu (B) 997

(C) e’y (D) f?l@‘ll

AR fes] WTETS: U I Hiag T St S wH o -

(A) foret (B) wd

(C) fedi (D) Taar drg ferdd

IR S Sfgarl ggerd St Jor e o -

(A) HediHA | (B) wud

(C) eavitar @ (D) g

“YeATeh A SEATA Srereh S o1 IIferae 1 agef™ o TgfEg grer e S @ e o 1

TET TS 1S —

(A) S (B) @™

(C) HIEHheH (D) A

et facfiet § el @ fRaergo arf fo of -

(A) @ (B) shgrft

(C) Hfaa (D) ARH

i ferarafa € gafy srdve wregor upw S afient 312 -

(A) Iget alil (B) I i aliehl

(C) @it =i attent (D) TEITE IR adient
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dz - 11
g — 11
et
ferd3 e 98 30 yas I3 |
A YHSE Jd& Hgdl I8 |

61. 9397 § T3 Jod Yoz dga TR W3d & ol AT I5
(A) ufges a8 (B) wrftzmetaau
(C) T93993 (D) 587 593

62. “HIs &g 3¢ fefenradi 2 fesog ufgeass @ Aeu fF9 Y 2 Hases 3 Qaat & femrfinr
335 S yfafer §ysias affe 76 1 fog sas fan feers o

(A) IT85 (B) 9%
(C) wiHadle (D) # He it

63. IStEtee v wiosa aef 3 fengraydea e 18y - yms fam udtfan o syar T
(A) fedurafiya udtfipr (B) =mzfaws udifimir

() yg= o (D) et o gﬁé

(64-68) J& T34 Ug Uz A YyHa 593 64 T 68 I3 @ §37 el :

W%gﬁvﬁéﬂaﬁﬁﬁ%@?ﬂﬁﬂﬁﬁaﬂaﬁwﬁnﬂ?ﬂﬁlwwﬁmmﬁ
MRS, UTIEd £ &9 »ig 39 fea-gH & ue=6 "V B I8 7 | 29 5 q993 I Gt wen ©
gfge-wfos o it | WEY & & gead & Tl &7 Ad1d § | 9093 a6 aFas 3t fonrad faurdh
oA 3 | geag ot Sfewres afdet 3, 7 Sy Tt yets aeet 3 | ger, et 3t A dftes e
»maa@mafswﬁqﬁaﬁaﬂaﬂamtmﬂaaﬁﬂﬁemaﬁéﬁm% | frreaft fia
=g &t fumt 9 | 999 = g feT O fa wg §EF du fiizE &3 28 IR 7%, 1 37 Senms wener
&9 nit AH 3 ufas® i 8t 3 g9 a9 A= |

64. ‘Gt mau o feaftmee g
(A) WoH (B) feaw
(C) tUe=g (D) feawm

65. ‘TOWTE THHE IS HISZ 9
(A) =3 (B)
(C) afgg=s (D) I3

i
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66. ‘A3 HYY T HINIEA He U< :
(A) WIS, HW (B) Wd,IH
(C) uHg, fsaz (D) fA3, mine

67. ‘39 e o f8arvesd :
(A) wHIH (B) <RI

[

(C) H¥E (D) dr9d

68. ‘I HIT T HISIA IS :
(A) wiTd (B) T

-

(C) J&T (D) 3FwT=

(69-72) J5 fsu afe-Se Sug Ayaa 99693 72 A2 €3 @ :-
He Jqd @8 AR | Eym
frm 37t Har Ug wfanr, fa
WS HT S 7= |
o G s J 231 fie fqd,
I HAT AB AR |
IHH AHiE A< |

69. fe-de e fange A2t ImIet I 2

(A) Juet (B) 3=

(C) %3 (D) =
70.  Budes afe-w39t € yrar &8 fan it -Yfier o fagg Ifenr 3

(A) F-T3 (B) 3T —HT

(C) wHT—Ug (D) 3t -u89
7. ‘S9¥ FEE I dis=d 2

(A) &dd (B) w=gar

(C) #&53 (D) =fgrs
72. fegaie—fewgfan afe-guer fdnas

(A) &t (B) &9

(C) VaBH (D) fam
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73.

74.

76.

77.

78.

79.

80.

81.

(61)
At g S8 €, o, v, fag fag =9a 35 -
(A) fenivs (B) a=gar 2Et
(C) fewimszaa (D) AEITIS

'8 T95 & T96HST © fan Zqar f&g g famr 3

(A) 2=2dar (B) <& =qar

(C) =T (D) VY =qar

Urreft g foaas feg fds samig as 2

(A) fds (B) &

(C) =H (D) U

(A) <= nivg (B) W32 A AYA3 Wyg
(C) JBwig (D) <TEIwivg

T3, yFr, T, 963, nee At Hffauft Qs as idfu3 9%

(A) Ho=El (B) Zardt

(C) Wt (D) oot

et GQugm faas 1 &8 Weg et 9 -
(A) efasar (B) uEsde & >
(C) sfss (D) #SU

(A) YHEZ, MH 5= (B) fodsegaad=, MMHINd &=
(C) IWHIEL, HHE'L (D) HI-THAERE, HH SR

fAos mee & s’ wee < 57 =9t a2 ug &7 ot 6r 38 IEt ye-fofe diFt 7, Gruasie §
FfTe T -

(A) WHT=9q UIFs2 (B) formuevaugs=

(C) YT I YIS (D) YHETYH USE=

froz wae fan sie 97 yzsie wae d fuedt o fomrs er B ferme & faarwien I

(A) ufgHsea fenms (B) u3a= fanms
(C) wimrega femms (D) fomeeoa fenme
Ut s f29 fenfua fam yua €3 fesee 75 -

(A) HEEYUd3 (B) FIHYIT I

(C) Gu=aUud3 (D) Budas fE&tyaa 3
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83.

84.

85.

86.

87.

88.

89.

90.

(62) PL-1

‘G TITE W3 F9&T I Hi 3T gRHS T U= TR Aues WA d ¢

(A) 3'H (B) 3t

(C) Ia (D) &
yafent Gug fove fadft 9

(A) &5 fedta (B) vg3sfefta

(C) wrafsa fedta (D) wf3-wofsa fedta

et fifepsrr 2 e Bt A Quron St Je a3 -

(A) 3t 3 Qugrarstua fifumm o ydu st aga ardftar |

(B) It fifipor nifmua o Hasg 33 5 3

(©) IR 3 Qugrarahia fiffimsm or yfa agar e d | E'ﬂ-
(D) 3T 3 Gugrasfua ffuer S St Sz s T 1

9 ST HEfed MaE J ;

(A) TS T fE0HI U IS E&T | (B) da= v ferH3 QU aB 135" |
(C) T6IHB | (D) HIETHEEE |
HeTvga &t faimsT g

(A) feamarafdz I re-mfris AR YgaT | (B) fag Wb & 95 3957 |
(C) ¥3-S3A4TT5TIS | (D) EH 3 it nirem T TS5 F357 |

feudt riardt & wa 1 we 139 fast »iema d13, w9y qifas a5 &t fafow fan @as »fls
uccin g

(A) Tdtevs (B) afegrara
(C) 3adta (D) HaT9s
‘HEh s g TAftmr o 6on 35 -

(A) fefonradtht feg nes &t st @i amaT |
(B) widH glfos 995 <1 Garzr G q95 |

(C) =TAITLHETE § AHTS &t terz™ feafiz awaT |
(D) Gudaz Ag

I it 199 ATTPE 2 o4T T% AUST ©F Fdl de 9< ¢
(A) &an, I8 (B) I8, fasa
(C) I92, ZaH (D) TFE, Iae
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61.

62,

(63)

-

s — III
el — 1T
erzidl
L VISHL $EL 30 WAL,
€38 WAL orellol AL 53 [P 65,

Al2t-tmiadl @lHA 2AlGA AL 2A3UML 5Ll AHEARL AL 20 ?

(A) [Aol= (B) lcHsUl

(C)  »iddd avid (D) izl

ZUOWHL WAL HndL ol [enedlol aul-d s2ell Rilfs siua 5316 d salddl i 8 séa ¢
(A) I (B) 2ov-{lall

(C) e (D) [srrbist

GUMLAL 0Bl g BRRURELSI] 25 d W2 WOSEIA 58 s weARs Mglxi-d 2o srel ¢
(A)  aseeed 2l (B) [Fotat @vid

(C) 4 (D) 2i4dls E%

AL EULLAL AR W QUL 64 2] 661 2alol AL ;

a2 e, AN DA U, AAS DA A WA B RRIRA szl £ sl

WFR 5, oL WIS UHY MAA 2L 73R 6. AEL 2L WHUBLS WA Hed AU M. HdrAdAL o7
Al HOAAAL 22 USEU 5L WD GRIURA AL HI2 555 SIAEIAL USAHL AL DA DA 554861
WIEA AR, SRR DUSHL U5 A 21 dl 7 AlST SRIRIR S3ell $320. AUl 1SR 22 HseU

el A2l o 2 oAl
64, iRl 2Rl S G s 1
(A) 2% SEL A . (B) A%l [Asid 2w 8.
(GRELERITTTRY (D) g Als a1 5.
65. ‘dsen LUl gl wsl,
(A) A+ 564 (B) uH + 564
(C) uH + 564 (D) U+ 564
66.  Gur- ateliaiA ARl 53 2ils vl as ¢

(A) SRR 6Pl (B)  GLEIRAIR 2L
(C) GRIRAUR | (D) MBS e
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67.

68.

69.

70.

71,

72,

74.

(64) PL-1
e 5161 2AL S GUES 2 AU EA USIRAULAN S ¢
(A) IS U (B) et U™
(C) MBI A (D) s4ls Adn
‘AHEL 2zel 24 Al el 04l . s [t AlR-umiel 535 ¢
(A) dwel (B) MR
(C) =edl (D) el

Gu, 2L, Ams, £3, BUUUA DO 1of st Baldzimer s ¢

(A)  =RAUAARS (B) Qs
(C)  UHAUARS (D) HEUHUS

Eas
Rl 521 D5 UoeA Byl adlal & ¢ m
(A) Ul (B) ARl
(C)  uReel (D) wRlks

A2 585 1S ASAUAML o UALY 65 7
(A)  awvwil (B) sldldlel
(C) el (D) Ausl

GUMIHL 52615 KIOETHL AGIAT YAl HIZ DURLAL Rl 2 s 7
(A) e (B) iRl g
(C) 2zl (D) @i R

A AL 581 £5eAl QBL o el sl A2 o1sIR IRLL " AL 2ARAL USIR Al
(A)  Goruradl 24y (B)  Bam wEbIl 2
(C) ARl 21 (D)  Qeedll i

‘ZLl. el ol 57 . sl AR sAl SR 8 9
(A) [zl asx (B) ¥yl AUz
(C) sl 2 (D) wsud s

‘dlar’ 2esdl 4g vl 2] ARkl s 6 ¢
(A) il (B) sl
(C) HcUR (D) <R
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76.

77.

78.

79.

80.

81,

(65)

A2 A YU AR WA 00U 76 2L 77 YAl Gz @l :
t5el HOEL - 15 WAL,
I Hidiel 5L ?

UAAVS L LA HNAL,
ALS Hidl-l sl ? oy
23ll WLl 20l Hngd, =
Rlssc HIAL 54l ¢
UL, YR A AURLHOEL,
AL HIHL 4L ¢
UR, et A Wolld o,
AT
AR G2 e, detedl
Sell Huedl i 7
HicllAL 250 W@ 5L [QRud 2l ¢
(A) &, i, Wdilld-l (B) A5 &R L@l
(C) Rl 2l (D) U6 24 yzov-dl
‘OlR GIH2 He, Sl Sl HiHl 2L 2 UMl WS A0E AL USIRALE T
(A) dcd¥ (B) d50id
(C) 2izoil (D) Al
2R, AL, WAL VAL QOEL SAL USIRAL AU LURIL S ¢
(A) Geraadl (B) wesdpll
(C) B wAll (D) Balaamel v
ARzl 52 WEon e [Asiat u il 9y U 5 8 7
(A) agdpil (B)  dldlezul
(C) (el 2530l (D) U
w2l A 2Ae1ld-L £.
(A) [Rienam (B) MRl
(C) A (D) idam

RIREL 1 2l SH stea [Rizeon W2 56 wgla 2iqgm ol asir 7
(A) -G ugli (B) wt2loiln ugld
(C) da-lugld (D) sadugld
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82, lvisHl [AzualFAlA Micalect 53l W2 a1 Bl Byl s3al ¢
(A) zdlszul Sl (B) [reuléia slued
(C)  MamlE sluey (D)  SLML 5l

83, 58 2tarAl olns-lL WA el BHR” =l el 2lurAAML 2 £ ¢
(A)  Zad 2R (B) clledrl
(C)  cRLULRAL (D) YUl

84,  ~{l2iArmiall 53 AL ERL- B UAA S ¢
(A) $¥2R (B) 2uzsl$z
(C) A4l (D) WA s

85.  alartrl Hels HE Guabil Ui .
(A) SHHIMES (B) Msyrels
(C) G vl (D) BB 8

86.  -lla-mizdl BUEL WEAYRAS @Bl 5% 8 ¢
(A) Wy 2ol i S,
(B)  [AenallAiAl ;Horaloadl [Asia 53 dal disasH. Qﬁﬂ?
(C)  [azuelleAiA 21 clasHL HEESU 21 g, =
(D) WEAYRAS CUNSL SR 3¢ g,

87.  [Rlats-ll 53l L 1S 0B HIAL oA o35 BIEL MU & ¢

(A)  AlErsal (B) Azl
(C) due (D) vzl
88. -l 585 g ldAl BulaL 2uszel [@QEdel W2 s3ARL A & 7
(A) sl wsld (B) WAz wgld
(C) vl vald (D) 2ARMA- [ ugld

89.  sluLl uglets sUPl- Gzl 2SR, WL wRBIM €3 ot UM Adal WOl dl d- sl sui2] s€l

US4 9
(A) RO sA2L (B) 2wl 5112l
(C)  [axu-dla su1idl (D) Aerasdl s12L

90,  5ell MSIRAL WHIAL fvellod Assl sleuell [Asu-Aladl, Wrsieiddl i wasllkdl vnae 26 6 ¢
(A) 250 Gz USR (B) <lreetedl usl
(C)  [Fotaucns usll (D) GuRise dAHH

https://www.pygonline.com


https://www.pyqonline.com/

PL-1 (67)

SECTION-1V /@Us — 1V

MATHEMATICS /7Trd
There are 30 questions in all in this section.

All questions are compulsory.
EEEHHA 30 TH E |
o+t o arfem €
91. Shde rule is used in Mathematics for

(A) Multiplication and division

(B) Angle measurement

(C) Make the shape smaller and larger

(D) Measurement of angle of elevation

T & WSS F H1 ITAM ST 2

(A) TUF TE 9ISH % e

(B) v 1194 =6 forg

(C) 3MTHfd I BT a 981 A & forg L]
(D) 313 v 719 o e ®

92. The best appropriate method for teaching the area of a circle is
(A) Inductive method
(B) Deductive method
(C) Lecture method
(D) Laboratory method
I I A% TEH ! ToH 3T fafr @ —
(A) 3 fafa
(B) T fafy
(C) waream fafy
(D) ST fate

93.  Which of the following statement is not related to nature of Mathematics ?
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94,

96.

(68) PL-1

(A) Abstract clements are explained in Mathematics.
(B) Area of generalization is limited in Mathematics.
(C) Mathematics is a universal subject.

(D) Number, places, measurement etc. are the basis of Mathematics.,
= o & S T A fera <61 Rl @ wrafa i g e

(A) TIfvTa 3 31 W <ht sarEn i S 2 |

(B) Tiftrd § STHT=IAE 61 & Hiftd 2 |

(C) ifora ueh wrawifues fawa 2 |

(D) H@d, ¥, "9 3enfe i & AT E |

The word *Curriculum” is taken from which language ?

(A) German (B) Latin

(C) Arabic (D) None of these

viee “lipern” Fore T A for TN 2 7 e
(A) W (B) @fex

(C) 3wl (D) 378 &S 7

Making tables in Mathematics comes under which specific objective ?
(A) Skill (B) Application
(C) Understanding (D) Knowledge
wifura # wreft s fenw foroty 3R % af=la s @ 7

(A) HIFa (B) 1w
(C) =™ (D) 3™

Which is the correct numeric form of “Ten lacs twenty thousand three hundred five™ ?
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97.

98.

99,

(69) D
(A) 1020305 (B) 1200305
(C) 10200305 (D) 12200305

‘TH ARG STH BSR 1 | ui"’ 1 Wl 3Aifehe ®9 2

(A) 1020305 (B) 1200305

(C) 10200305 (D) 12200305

Make a greatest and smallest number by using digits 2, 5, 7 and 8. Then find difference of

both the numbers. Then from which of the following number this difference is not divisible ?
(A) 2 (B) 3

(Cy 3 (D) 9

3 2, 5, 7 S § T ITATT HLd §C T G2 I TG DI TR 19 | 76 T A1 TR
I IR T hifw | Fared {6 78 3w fe 1§ fopw ween & fonfsa & a2 0

(A) 2 (B) 3
EsE

C) 5 (D) 9 =

[n which of the following alternative 500 is not the place value of 5 ?
(A) 2569 (B) 6529
(C) 9256 (D) 9562

e dasad faeca ¥ 5 &1 e 9@ 500 T8 8 7

(A) 2569 (B) 6529
(C) 9256 (D) 9562

Which of the following is the correct descending order of fraction ?
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1232 3212
@ 7533 ® 3575
L 3122 3221
©) 5735 D) 3533
faferfiaa § 9 o a1 fa=ii &1 a8t saugt w2 ¢

1232 3212
®) 75%3 ® 3575

3122 3221
©) 727373 D) 533

100. How many Prime Numbers lie between 1 to 30 7
(A) 8 (B 9
(C) 10 (D) 11 Nt
1 9 30 % o= feparft srvisa deand st & 7
(A) 8 (B) 9

() 10 (D) 11

101, Which of the following ratio is greatest ?

(A) -1— (B) 2—%
© 2 o) 5
=1 % 4 1 w1 s ged e R ¢

A 7 B) 2
(C) % (D) %

102. Which of the following is the correct Prime factors of number 420 ?
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103.

104.

(71)
(A 2x2xT7x15 (BY 2x2x35x2l
(C) 2x6x5x7 (D) 2x2x3x3x7

frafafiga # 9 =9 @1 5@ 420 %1 T8 31979 PGS g ¢
(A) 2x2xT7x15 (BY 2Zx2x35x2l

(C) 2x6x5%x7 (D) 2x2x3x5x7

LCM of any two numbers is 60 and HCF of them is 5. Which of the following are those

numbers ?

ELE
(A) 20,30 (B) 10,30 i A5

(C) 15,20 (D) 15,40
f-al Q1 w@n 1 agTH qHIEE 60 8 T4 AEOW FHMan® S5 2, @ fFefafaa § 9 3
@A Hi H &l 2

(A) 20,30 B) 10,30

(C) 15,20 (D) 15,40

[f a Consequent of ratio 5 : 7 is 35, then what will be Antecedent ?
(A) 25 (B) 36

(C) 45 (D) 49

¢ Uk A 5 : 7 T WIS 35 &, AN IHeh1 oIS T & 7

(A) 25 (B) 36

(C) 45 (D) 49
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106.

107.

(72) PL-1

4 men can complete a work in 20 days, then 10 men will complete the same work in how

many days ?
(A) 2days (B) 8days
(C) 12 days (D) 50 days

4 FrreHt weh S i 20 fe7 0 e &, ar 10 et 36t s 1 ferad fo o g 2
(A) 2f= B) &f&

(C) 12f@= (D) 50fea EEE
0

On selling an article for ¥ 329, a dealer lost 6%. The cost price of the article is
(A) T310.37 (B) T348.74
(C) T335 (D) T 350

T 329 3 Ueh o sl S T T Lo Bl 6% hi 711 8F, 0l a5 F1 hd T T2 7

(A) T310.37 (B) T348.74

(C) T335 (D) 350

Average of three numbers is 40. If average of two of them is 38, find the third number.
(A) 38 (B) 40
(Cy 42 (D) 44

o w3l &1 2fEd 40 2 | afe 398 @ 2 gt 1 3iEd 38 2, 9t ded g g

(A) 38 (B) 40

(C) 42 (D) 44
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D

108. What will be the amount received on ¥ 3,000 for 2 years given at the simple rate of

109.

110.

interest 11% per annum ?
(A) T2.340 (B) T3.660
(C) ¥4.320 (D) T3,330

7 3,000 W 2 9% % fau 11% 6 arffes aremor sars @ @ fpaft aafs g &nft 2

(A) ¥2.340 (B)y 3,660

(C) 4,320 (D) 3,330

The difterence of simple interest for 2 years and 3 years on a sum of ¥ 2,100 at 8% per
annum is

E5E
(A) 336 (By 168 i 3

(€) T1,680 (D) %504
T 2,100 GeT8H Td 8% arfifes <hl o0 | 2 a9 37 3 o =k WU SATS 1 3T T —

(A) T336 (By T 168

(C)y T 1,680 (D) 504

A bicycle is purchased for ¥ 1,800 and is sold at a profit of 12%. Its selling price is
(A) % 1,584 (B) 2,016
(C) 1,788 (D) Y1812

T TIEihet T 1,800 H @ 12% A9 T o= 775 1 351 foshal ea g -

(A) T 1,584 (B) 2016

(C) ¥ 1,788 (D) %1812
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T bl .
111. If | m* =x mm*, then the value of x is

(A) 10000 (B) 1000
(C) 100000 (D) 1000000
afg 1 o diet = v i faefhfier S g, v H O B
(A) 10000 (B) 1000
(C) 100000 (D) 1000000

112. In the given figure, the value of a is

A C
9()°
B< - E
40° 5a
I D
(A) 5° (B) 10°
(Cy 20° (D) 50°
feomutmgawmamg:
A C
90°
B E
l.‘
(A) 5° (B) 10°
(Cy 20° (D) 50°
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114.

(75)
113. Find the volume of the given figure.
3y
y
2y
(A) 6y (B) 6y’
(C) 22y (D) 9y’
€ 77§ 3TTHid BT T A1 HifAC |
3y
}.’
2y
(A) 6y (B) 6y’
~ 2 2
(C) 22y (D) 9y o)
i
15 m? is the area of
(A) A square having side 15 m
(B) 3 squares having side 5 m each
(C) 5 squares having side 3 m each
(D) 15 squares having side 1 m each
|5 o et &het 2
(A) T arf formehl qam 15 fex 2 |
(By 3 ot formeht wedeh bt 3o 5 it 2 |
(C) 5 fweht weieh < 91 3 Wit 2 |
(D) 15 <1 foram weden 6 9 | fie |
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115. RICE is a rhombus. Find the perimeter of the rhombus according to the given
measurement.

P
oy
R E5E
(A) 20 (B) 28 o
(C) 52 (D) 68
RICE U Ta=Iqs 2 | 3trebfa # fgu mu wra % sy ot ww=qds 1 afma wma Hifsm |
C

(A) 20 (B) 28
(C) 52 (D) 68

116. “Music is a modermn secret exercise of the subconscious mind of a human being related to

the numbers of arithmetic.” This statement is related to which value of mathematics ?

(A) Intellectual value (B) Cultural value

(C) Artistic value (D) Social value

“Hfid HTE & A= T 1 FHII 1 T U T T 1Y T =aH 8 |” T8
e o 5 Pt T @ e B 0

(A) g ye (B) HEFfaH 7o

(C) SellcH Jed (D) =T e
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118.

(77)

Which method is based on the principle of “To observe and learn™ ?
(A) Inductive method

(B) Programmed Instruction method

(C) Laboratory method

(D) None of these

“frdternn 01 3t ditEr o fagr w i i fafa smarf@ 2 2
(A) I fafy

(B) Ffirshiaa seeM fafy

(C) wEmTaITe faft

(D) & HiE 7

E4E
o

“Mathematics is a mirror of civilization and culture.” Who gave this statement 7
(A) Locke (B) Galileo
(C) Hogben (D) Roger Bacon

“TTTOT |1 U SR I UV 2 |7 AR YA R e v
(A) i (B) fefifer

(C) &hed (D) TSH &ehd
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119. The purpose of diagnostic testing is

(A) To find out the efficiency of the teacher.

(B) Developing different skills of children.

(C) To improve teaching and leaming process in mathematics subject.

(D) To examine the suitability of teaching methods.

frerTenes wiero 1 32va & -

(A) Toreger i SRIGIAT 1 Ta1 AT |

(B) aTetehi o farfir=1 twreri =1 fasm@ & |

(C) ifvrd ferwa <Al a1t ud 31eATA Ufshan 3 gur T |

(D) Toregor fafer <hi Sugedar i Siig & | @‘%
e

120, Which system is not applicable for mathematics teaching through playway at primary

level ?
(A) Montessori (B) Kindergarten
(C) Dalton (D) Lecture

T TR W TR T § Tfor fer e 6 fore s o sraeen @ny @ a2 7
(A) Hieadt (B) fhetméa

(C) Sl (D) ==
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122,

(79)

SECTION-V /@Ug -V

ENVIRONMENTAL STUDIES / GTeR0T S

There are 30 questions in all in this section.

All questions are compulsory.

TERH FAIOTAE |

st g rfram 2
Example of Rabi crop is
(A) Maize (B) Soyabean
(C)  Groundnut (D) Flax
Tl 6 BUA FI 3T 2
(A) Wel (B) HHETEH
(C) Heeht (D) oFh

What is the main object (aim) of evaluation ?

(A) Maintain discipline

(B)y Conduct examination &
(C) Question paper setting

(D) Learner’s performance and improvement
TeToh o1 & I FM 8 7

(A) SHAATHA &HT

(B) o1& swtam

(C) FHTHA ST

(D) Afermeral i Suafe vd gur @
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125.

(80) PL-1
Which element is not present in child centered education ?
(A) Play (B) Inactivity
(C) Inspiration (D) Satisfaction
oTel hid Berd PR @ aa i aar g ¢
(A) ©a (B) fafswaan
(C) oM (D) G
In ancient times messages were communicated by which medium ?
(A) Fax (B) Mobile
(C) Messengers (D) Telephone
UrefiepTet § Hewl 1 Hel i & qread & ghar o7 ¢ Eym
IlE
(A) Thed (B) HEEd
(C) & (D) dcfrer

An example of Audio-Visual Teaching Learning Aid is
(A) Radio (B) Tape-Recorder
(C) Bulletin Board (D) Television

e — e fveqor - arftrm wmft 1 e @
(A) e (B) q-fapret

(C) TefAarE (D) deffasm
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126. Fuldol fair is held at
(A) Ajmer
(B) Jaisalmer
(C) Shahpura
(D) Alwar

FeTElcl bl Hell gl il 8 7

(A) I
(B) SGAR

OFHU|
(C) W o
(D) AR

127. How will you be related to your father’s brother-in-law’s mother ?
(A) Mami (B) Nani
(C) Mausi (D) Sister

3k forersft < @ret =it af & arros St fgan g 2
(A) T (B) AHI

(C) v (D) =&
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128. Which of the following is the nearest planet to the Sun ?

130,

(A) Jupiter (B) Earth

(C) Mercury (D) Mars

fefafeadasm o = e mm 2 ¢ Een
[=]

(A) Feerid (B) geeft

(C) 94 (D) =T

. Following traftic sign indicates —

(A) Cross-road (B) Pedestrian crossing

(C) Railway crossing (D) Narrow bridge

e T e ararara Hehd 3| Ha B -

(A) <rE (B) Ued YR Ty

(C) {eTd Fhifem (D) @R gfern

Our National Calendar is

(A) Jana-gana-mana (B) Vande Mataram

(C) Shivira Calendar (D) National Saka

TR TER =1 2 -

(A) SH-T-T (B) @ ATy

(Cy Forfa g=rm (D) TP 75
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131. Which Lok Devta in Rajasthan is related to obsecration of Lachha Gujri ?
(A) Gogaji (B) Ramdevji
(C) Pabujp (D) Tepaji

TSR H % H @i caal 1 Tay arsl & i d 7

(A) Tt (B) TSl mym
(=
(C) resht (D) dsit
132. Choose the right group for means of transport by roadways :
(A) Jeep, Scooter, Boat (B) Cycle, Car, Jet
(C) Bus, Truck, e-rickshaw (D) Bullock-cart, Camel-cart, Flying car
TS AT AT 5 TTEE1 % &l THg bl g+
(A) S, ¥pet, A (B) W, I, W2
(C) =4, g, §-fiamm (D) SeTEl, FME, TR FR

133. Which disease results into low platelet count in the blood ?
(A) Chicken pox (B) Diabetes
(C) Amoebiasis (D) Dengue

T3 T % R T 3 wieeiey 1 HEa1 HH 8l Al 8 7
(A) Taaaiem (B) WYHZE

(C) snftamafag (D) <7
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136.

(84) PL-1

Which of the following is known as *“Manchester’ of Rajasthan ?
(A) Jaipur (B) Bhilwara
(C) Nagaur (D) Beawar

frmfafiga 1 9 foras! useuE &1 G990 SR I ?
(A) AL (B) icarer

(C) AR (D) AT

. Where Sonar fort 15 situated ?

(A) Jaisalmer (B) Jaipur
(C) Bharatpur (D) Rajsamand
TR g el a2 ¢

E350E
(A) SEHAHR (B) SR e
(C) waR (D) TrEHg

For which community of Rajasthan conservation of forest and wildlife has become a part of

their religious tenet ?
(A) Gunar (B) Sahariva
(C) Bishnois (D) Meena

TSR % SiF d TSR & fole a7 vd a=rsmil e 39 9ififeh SR &1 Wi &4 T 8 7
(A) TR (B) @

(C) fowarg (D) iom
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137. Select Jayanti from the following, which is celebrated on the 13™ day of the rising moon of
y g y g

Chaitra.

(A) Mahaveer Jayanti
(B) Gandhi Jayanti
(C) Ambedkar Jayanti

(D) Hanuman Jayanti

fyerferfen 3 & o s 93, S o == ava 6 sper e o % e ma ot 2

(A) TR Sadt
(B) TIeft St
(C) 3t Jod!
. Qi)
(D) &AM At OERS

138. The name of an age-old concept of water harvesting in Himachal Pradesh 1s —
(A) Surangams (B) Kattas
(C) Kulhs (D) Eris
fereret wam o et dugwr 1 QU Hehea 1 A B -
(A) HO™ (B) H

(C) FeB (D) ufEm
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140.

141.

(86)
When was Namami Gange Project launched ?
(A) 2011 (B) 2012
(C) 2013 (D) 2014

TTF T SRR 1 AR Ha Fohan T o 7

(A) 2011 (By 2012

(C) 2013 (Dy 2014

Crocodile belongs to which class of Animal Kingdom ?

(A) Aves (B) Reptilia

C) Amphibiz D) Pisces

(C) mphibia (D) Pisces Eﬁ?j
: s

WHH=3, vl Sd & fpa gai #1387

(A) uef (B) w{gy

(C) STeTRAeTIL (D) HH

Suncity is the name of

(A) Jaipur (B) Jaisalmer

(C) Barmer (D) Jodhpur

i et am 8 7

(A) S (B) SHEeit

(C) gl (D) ST
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142. Match the following and choose the correct option :
Hormone Function

(1) Growth hormone (a) Regulation of sexual characteristics in male

(1) Insulin (b) Stimulates growth in organs

(1) Testosterone (c) Regulation of sexual characteristics in female

(iv) Progesterone (d) Regulation of blood sugar level

(i) i (i) (iv)
(A) (c) (a) (d) (b)
(B) (a) (b) (c) (d)
=iiE

(C) (b) (d) (a) (c) G
(D) (d) (c) (b) (a)

frafafiaa =i gufea i au w8 e =9 S https://www.pygonline.com
B =

() gfgema  (a) TF A A w Fraw

(i) e (by 30T # gfg i@ we

(iii) TRRUA  (c) WIel ¥ Sk @eqon =1

(iv) TSRUA (d) (o o 91U Tt & e

(1) (i) (ii1) (iv)
(A) (¢ (a) (d) (b)
(B) (a) (b) (c) (d)
(C) (b) (d) (a) (c)
(D) (d) (c) (b) (a)
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143. When is special discount provided on the price of the clothes made up of Khadi ?

144,

(88)

(A) 26 January (BY 2 October
(Cy 21 June (D) 5 September

@Tdl & 4 i <l g W sy g2 Fa & At 7 ¢
(A) 26 S=dl (B) 2 3&gsR

(C) 2134 (D) 5 e

What is the main reason for the difficulty in breathing while mountaineering ?

(A) Steep slopes (B) Extreme cold weather

(C) Low air pressure (D) ey wind

TEATIEY % ZH EiE A 3 HSATE 1 e R B - E4E
=

(A) @M (B) 3Tcafus 31 4y

(C) %A I (D) ahiedt &

. Which of the following come under the abiotic component of the environment ?

(A) Plant (B) Air
(C) Amnimal (D) Bacteria

frefefiga § @ =7 TR % srfas ges % iatd a8 7
(A) dre™ (B)y =13

(C) 5 (D) St
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147,

148,

(89)

Which of the following is the food of Silkworm ?
(A) Mulberry leaves (BY Jamun leaves
(C) Neem leaves (D) Mango leaves

frefafga T 4 e SIS SR @ R ?
(A) W& i afot (B)y < i e

(C) i i o=t (D) 31y =i ufaal

Which alkaloid is found in the tobacco ?
(A) Cocaine (B) Cafteine
(C) Nicotine (D) Morphine
. . R EaE
AT | I T Uoehalisg 1T STl 8 7 i
(A) ik (B) 6
() Fpife (D) #ifH
Rabies disease is caused by
(A) Virus (B) Protozoa
(C) Bacteria (D) Mycoplasma
S T BT e Bl 2
(A) 9= (B) WIS
(C) sefran (D) HIZHIATSHI

https://www.pygonline.com


https://www.pyqonline.com/

D (90)

149. Example of fibre which is obtained from animal.

(A) Cotton (B) Polyester
(C) Nylon (D) Silk

S § ST G T ITET

(A) O (B) difeTaex
(C) A (D) o

150. Which of the following is not a human source of water pollution ?

(A) Domestic effluent E' el
=

(B) Sewage
(C) Industrial effluent

(D) Humus matter

fraferfiga & i @ ster sgwr o g wid AE 8 7
(A) i sfeamE

(B) anfEdrel

() frefrs sfeam

(D) 7HE Terd
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INSTRUCTIONS / fdw
(Read carefully and comply / &9 & 43 3R wrad #)
IMPORTANT / Ageaqut

[

In Section Il { Language-1) a candidate has 1o attempt the questions of the language which the candidate has selected as Language-in the
Online Application Form.
AU A (AT 1) H oS A F Al F ew Fan atan T s w3 oA | F w3 e Aee - i fEm e
In Scetion N {Language-11) a candidate has to attempt the questions of the language which the candidate has selected as Language-11in
the Online :\pphmtmn Form. The Language-Il will be different from Language-l.
UL 11 (AI-11) B 36 AE we # e wmen st g fr e w s s o 7 = # e e | fe g
Aqre1-11 A1 8 faer gl
The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place
in the OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No.,
;%IJC\TI n Bonklct Number,

omnﬁzﬁﬁufhﬂm ‘]T;&I:gﬂ ﬁs@ﬂmﬁﬁﬁwi|mﬁﬁ OMR ¥z &1 JegiEA

Afew wA-gfern lﬁzqa %, % amEm i fma s

[

i

A

10

Read mmpILtL instructions carefully and fill the details from 5L No. 1 to 7 in the OMR Answer Sheet and 31 No. 1 to 4 in the Question
Booklet. If vou fail to fill the details and sign as instructed corectly, you will be personally responsible for the consequences arising
luring scanning of your OMR_Answer Sheet,

S ot = @ ey ug o e | @ 7 @6 OMR st v gwiE 1 8 4 g% e -yfem (deee) g9l ) af s aes i
# faon ae3 a1 FEnat wet & A OMR sie F w5t & owmen w1 a a5 at i ma e #

The Question Booklet comprises 96 pages having 150 questions, After being instructed to open the Booklet, only then the candidates will
open the Question Booklet scals. Check whether the Beoklet contains 150 questions starting from Page Ne. 3 to 90. The Shift Number
required in OMR Sheet will be as per admit card issued to the candidaie and also mentioned on the top of the Question Booklet,

g i # 06 98 mH 150 W 2 | weendt g F—'-J A % IO L wvE-gieT & de g | 97 giafies = 2 B owe-giam
n 150 T & 1 PR 98 WE 3 A WA TR 90 AF £ | mm«hwﬁmwaaﬁnmﬁqﬂmeIMT FAAW S F
2w AT weA- qﬁHﬂT—qﬁmTﬁﬂfraﬁmgqr*’l

AR questions are of MCQ (Mulfiple Choice Question) type. There is only one comect answer o cach question carrving one mark,
There will be no negative marking for wrong answers,
ik wa R Y | werw uaE w1 v e f1an R v wee o fe Pt e £ | e a3 T smmens ot Tl Rl e
AN questions other than language questions of Sections 11 and 111 shall be bilingual,
WA § W e w9g 1 0E & v % sfafes dw wh wvdt & v | |

I{1 any event of any mistake in any question’s, candidates will not be penalized, However no corrections will be made in question/s during
Lhe oxd nmll.ﬂmn
w3t ferit iz & o whomdf =1 forsh v =01 Tormms 7t Eom o e o sl § weAt @ frf s w9 e s

I{mnch work, |'r any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the
Jugstion Booklet. No additiopal paper shall be provided,

T 9T % TF T 2 WA~ AT o A e At 2 | we - 8w | sl wew st s ey @ v
Use of Log tables. Caleulator, Slide rule, Mobile phone, Pager, Digital diary, Bluctooth, Microphone or any other electronic item/instru-
ment cic. 15 not allowed. Their use will result in 1.!|‘-L'|'|.hL||t|L¢I1|I.'5|'I
P TG, A, Wi B0, WIS A, T4, =4, ATEFRIEA A1 R #7 UER 1 R T /e & wan
af#a & | T I9am W Wea @ e A :n-Tcn'r-?

OMR Answer Sheet will be provided along with {Jll.ll.h“l:lﬂ H".J\ﬂ'\lL[ separately,

OMR 22 Tt % o A Wt o e |

The Question Booklet will be issued 1o the candidates 10 minutes before the start of examination and the candidate must fill all entries in
OMR Answer Sheet, The Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to
4 entries correctly on the Question Booklet. After opening the Question Booklet, ensure that any page / question 15 not missing / not
printed / torn / repeated. In case, vou find any defect anywhere in the Question Booklet, immediately inform the Invigilater and get it
replaced within § minutes by the Invigilator. Warning Bell will ring a1 3 minutes before closer of examination and the last long bell will
ring at closer of examination.

erdi 1 e - e A lnfn'r!'raf A | AEe AEaE T A OMR sfte & arifi wfafeeat = ad wew & w0
wyA -gfers 1 W 9 s F 5 e *JH Hl wW AT | & 4 4wt & we ST.IT‘ A q | N -gEaE JeE T
qﬁsn:ﬁma’sn—ﬁfaﬁrﬁ—mﬁ g # /T W g1 Al qE 2 wE TR mwvﬁ%mm%m
EER il A Po M oAl Bl pack: | ?r‘xewmﬁ*’ma‘ﬂWm;HﬂI}ﬁaT‘am 5 forz % e o @ s g - q
T A | AAEA T GO wWOA T 5 fare gd et va st A ah qfe a @ |

Write your Name, Exam Center Code, ";ls__n.Lunn. Rall No., Question Booklet Series Code, Shift Number and Question Paper Booklet
Numbgr jn the space provided in the Question Booklet as well as in the OMR Answer Shee L. . ) =

o - T lJHIR sz @ TAsfie 3 T AW, 98 6 F &S, Se, ATHIE, quﬁ-wé:m i wrz, firee wwiE oA we g
FAT ﬂﬁ?{ T ) )
With cach question vou will find 4 possible answers marked by the letters A, B, C & D. Read cach question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropnate circle completely in the OMR Answer Sheet
orresponding o the question. For marking answers use blue'black ballpoint pen only. Gel pens/pencils are llnl allowed,

AT Y9 h AR A A AL B, CA D | HEAT 1 S Y3 A W S WA 9 S0 *1'1' I'T'U\ Tﬁ i fiidff-ﬂd A AT
?ﬁﬂﬂﬁ—:hﬂﬂﬁr——:anmﬁf’ﬁma.—{|ﬁ?ima;n—wfm11#mwzrrfﬁ1=?rrﬂﬁ—mir| I afsa e |

Comrect Mahod CORRECT [ wHl WIRONG | TR WRONG TR WRONG | TER WRONG | e

i OO0 ® BOooOO|[ogCO||cOoCO||[CeCe

OMR Answer Sheet is designed for computer evaluation, If you do not follow the instructions given above and at the backside of the
OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of
the candidate only.

OMR 5T F1 Fr2% 210 A & for = w2 ) afz om0 3odF vd QMR 3fe 7 foge 7e o foa w fisi 1 arem 79 #, 71 e
T TR HETTEA Hi5T 21 AR | 38 08 aiaedi i g ares e A e gad @ £ g

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in c|:Jp|1|_':JlL' h:wln::l_
perforation on the left side, Candidate should detach carcfully the Original Copy from the Candidate’s Copy (Duplicate) so that the
Onginal Copy is not mutilated in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator
before leaving the examination hall. Candidate can carry only the Candidate’s OMR copy with him/her. Question Booklet is not
allowed to be taken by the candidate.

Fid i sfem 99 = & o wien T # 9w o W aw | OMR e 3 O s el afew ¥ o et o weie
frm e 2 ﬁﬂmm*waﬁqﬁlﬁﬂﬁtﬂﬁ{ﬁ]nqvuﬁmm Al o ATl T ot 3 @ e wfa & R el A wE
qlian-wa 2 5 9F weadi OMR 91 g8 wfs 6 v g faw a1 die 2 ) st e s U\Ikﬁwﬁﬁmﬁmﬁmﬁl
i -qfre el w9 W Tl & o adR

Wrong Method @
TR T
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